
What did the alien dandelion say when he landed 
on Earth? 
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Directions: Use order of operations to simplify each expression. Place the 
letter matching each answer in the blank below. 
 

𝟑 + 𝟐𝟐(𝟓 − 𝟏)                               Y 𝟗 − 𝟑𝟐 + 𝟔(𝟐𝟐 + 𝟏)                    T 

𝟖𝟐 − 𝟓𝟐 + (𝟑 + 𝟐)(𝟒 − 𝟐)         E 
𝟔𝟐−𝟖

𝟕
+ 𝟐(𝟓 + 𝟐)𝟐                         E 

𝟖𝟏 ÷ [𝟑𝟐(𝟖 ÷ 𝟐)𝟐 ÷ 𝟒𝟐]             K 𝟐 × 𝟓(𝟑) + 𝟔𝟐(𝟕) ÷ [𝟐𝟐(𝟑)]    O 

𝟑𝟐 × 𝟑𝟐 ÷ (𝟐𝟕 ÷ 𝟑 ÷ 𝟑)             R 𝟏𝟎 ÷ (𝟓𝟐 × 𝟒 ÷ 𝟏𝟎)                   U 

𝟔𝟐 ÷ 𝟒 + 𝟖 − 𝟑𝟐 − 𝟐 × 𝟐𝟐         D 𝟐 + 𝟐 ÷ 𝟐 + 𝟐𝟐 × 𝟐 ÷ 𝟐            E 

𝟒𝟓 ÷ 𝟑𝟐(𝟓 − 𝟐)𝟐 − 𝟖 ÷ 𝟒          A 𝟏𝟎𝟎 ÷ (𝟏𝟎𝟐 − 𝟑𝟐 × 𝟏𝟎)            T 

𝟓 + 𝟏 − 𝟐𝟐 ÷ [𝟏𝟔 − 𝟐 ∙ 𝟖 + 𝟏] W 𝟕𝟓 ÷ 𝟓𝟐(𝟖𝟏 ÷ (𝟑 × 𝟑𝟐)) − 𝟓    R 

𝟕 × (𝟗𝟐 ÷ 𝟐𝟕) + 𝟒                      E 𝟏𝟐(𝟐𝟐 × 𝟑) − 𝟏 +
𝟗𝟐

𝟐𝟐
                  M 

𝟑 × 𝟑 ÷ 𝟑𝟐 + 𝟖𝟐 − 𝟐(𝟓𝟐)          O 𝟑𝟐 − 𝟒(𝟔𝟐 − 𝟓𝟐 − 𝟖) + 𝟗          E 

 
 
 
  

 
 

                !!  

30 43 9 7 166 102 10 15 19 51 1 27 

2 49 25  0  6  4 


